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1 Find the sum to n terms of each of the series in 1 + 1 + 1 +...

1x2 2x3 3x4

2. The sum of two numbers is 6 times their geometric means, show that numbers are in the
ratio (3+2+/2): (3—2+/2).
3. If the p", g™ and rth terms of a G.P. are a, b and c, respectively. Prove that
a' " PcPi=1,
n+l n+l

4. Find the value of n so that PO may be the geometric mean between a and b.
a"+

5.The sum of two numbers is 6 times their geometric means, show that numbers are in the
ratio (3+2+/2): (3—2+/2).

6. If the first and the nth term of a G.P. are a and b, respectively, and if P is the product of n
terms, prove that P? = (ab)".
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